EANRAROBREIEHRT — 2 N—XBISYH —F 201457828 (k) SEEM4R

ol C3— H5%R4mtE (xwlw | lmEmml - |5 @) o 8
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SIS A=t JIRE— :31. -1-1- . — BAEE (F)
11111 ZTYLEFFEIL 4 4 ) 1(3_1)0 1-1-1-1 | 39.7 1 ;1:575) ik
L:vAxNTT B XTIV TEXTS AR B
© K BARB :31. 02— . — BEME (BMA)
ol7l 7| 7477 =57 it 4 il 1(351)8 2-2-2-2 | 40.3 5 (4:342) )
L:ZXF¥ v BF-—IRNTIT—Y EH OB
N > RAFIH : 44— — RAY (Fk)
3 4 E1HTTH w0 | A 1.(332).3 4-4-4-3 | 40.7 3 (4_651) E];%EH
RiZa—A2TFLF BEAAYHYT I E—
. R . a7 — IAFZ (FEH)
N - IEARIEES 5 | BR 10324 8-8-7-6 |39.7 9 tg; i
x> TAANAIN B RNAN—F=— A4S
RN 4t 4 | KUEEFE 1:32.8 7-7-6-5 | 40.2 | — 2 457 | TEFEZ ()
5 2| TRy Y 56.0 2 1/2) (-p) |BEEZ
RT3 784K B:wLhHT74% VS &) s
\. 4 8 | TEHE 1:33.0 3-3-3-4 |41.4| — 6 457 | % (EH)
6/18/9|H v T A 54.0 (1 1/4) *+2) HIERSZ
R:Za—A2952F BiuA>TLIIT wER B
N o pr = MARFER : ~10-9— - XIEEE (EMA)
717l g | K- KT5> i o6 N 1.(35?3.8 9-10-9-9 | 40.9 7 <4+550> pEIE
L:T507F5 BN A=Y it dae]
»‘ —: t> 6 | HHFE= 1:33.9 10-9-10-10 | 41.0 | — 10 | 504 |EEFIEXR (EA)
sBY 3| 7L—trF1—0 77 s6.0 (5€) 42) |#) A AR A
R:vFHR¥FLIRY BYFhREIEX (5 Tie]
g2 4 5 | BHRFE 1:34.0 6-6-8-8 |41.6| — 4 453 | #EA (ER)
9|8l10| TVET1yYa 5.0 (3/4) ) | W) A RS
R:FUEELFaU— BiFURLFIN—Y I 8A
= - Ela5-IN :34. —5-5- . — Wci#E (FEh)
10l5/5/3F3 /U2y 4 8 s 1(354)9 5-5-5-7 | 42.9 8 a:g;t EER%
LT v —TFATLK B3 /A2y RET 7 — L
® 1—F—@EBIERL
1T=7r= 1,7,9,4,5,10,2,6,8,3
2a=5F= 1,7,9,4,5,10,2,6,3,8
Ja=5= 1,7,9,4,5,2,6,10,8,3
43—+ — 1,7,4,9,2,6,5,10,8,3
[ N5
B OB 1 1400 | | 74 K 1-7 230 | | # E 1-7 530/ | | 3:EtE 1-4-7 870M
B B 1 1004 1-4 270M B = 1-7 560M EE 1-7-4 3,110
7 1909 4-7 730M B H 1-7 840M
4 1309

ABICOVWTRDTEEERROODE. TR LIV,



